

$$II(i) a(t) = e^{-5t} u(t-1) = e^{-5(t-1+1)} u(t-1) = e^{-5} e^{-5(t-1)} u(t-1)$$

$$A(jw) = \underbrace{e^{-5} e^{-jw}}_{jw+5}$$

$$F(w) = 2\sin(w/z) e^{jw/z} - 2\sin(w/z) e^{-jw/z} - 4 \sin(w/z) \sin(w/z)$$

$$(c_{jw}) = \frac{1}{jw} F(jw) + \pi \delta(w) F(j0) - \frac{4 \sin^2(w/2)}{w^2} + 0 \sin \varphi F(j0) = 0$$

$$C(1) = g(1) + g(1)$$
  $C(1) = G(1) \cdot G(1)$   
 $G(1) = 2 \cdot \frac{1}{2} \cdot$ 

(3) 
$$X(yv) = 2 \frac{\sin(wz)}{w}$$
 (c) $w) = \frac{4 \sin^2(wz)}{w^2}$   
(3)  $X(yv) = \frac{10}{(yv+2)} = \frac{10}{(yv+6)} = \frac{10}{(yv+6)}$ 

(4) 
$$Y(jw) = \frac{[(2)(jw+2)]}{(3w)^2 + 8jw + 20} \Rightarrow \frac{(0(jw+2))}{(jw+4)^2 + (2)^2} \Rightarrow \frac{A(jw+4) + B(2)}{(jw+4)^2 + (2)^2}$$
  
 $g^2 = 4) \cdot 20 \cdot 20;$   
 $MUAT$   $A = 10$   $10 \cdot 10 + 20 = 10 \cdot 10 + 20$ 

$$y(t) = e^{-4t} \left( |0\cos(2t) - 10\sin(2t)\right) u(t)$$
(5)  $z_{(7u)} = \frac{1 - e^{-3h}}{3u + 5}$   $z_{(+)} = e^{-5t} u(t) - e^{-5(t-1)} u(t-1)$ 

(1) X,(+)= e-t u(+) y,(+)= 2e-t u(+) - 2e-2t u(+) X(jw)= 1 /1(jw)= 2 = 2 = (jw+1)(jw+2) (a)  $H = \frac{Y_1}{Y_1} = \frac{2}{(iwt)\chi jut2}$  (ju+1)  $\frac{2}{(iwt)\chi jut2}$ (b) h,(t) = 2 e > t u(t) (c) (;w+2)  $Y_1 = 2X_1 \rightarrow \frac{dy_1(t)}{dt} + 2y_1(t) = 2x_1(t)$ H<sub>2</sub>(30) = jh = Jw+5-5 - 1 - 5 jw+5 (5) (a) hzl+) = S(t) - 5 e 5t u(t)( (b) Sr(+) = 3-18 1 Hz(july = 3-18(1)) = e-St u(+) (c) Xz= e-5t (os (>t) n(t) Xz(jh)= (jh+5) Yz= Hz Xz = jn \_ [(jw+5) - \frac{5}{(2)} (2) yz= e-5t (cos(2t) - 5/2 sin(2t)) u(+1) (3)  $F_3(jw)=ju$   $X_3(jw)=1$  Y(jw)=ju (juta)(jutb) if  $a \neq b$ ,  $Y(jv) = \frac{-a}{-a+b} + \frac{-b}{a-b} = \frac{b}{a-b} = \frac{b}{a-b}$  jut b) y (+)= 1 (a=at-b=bt) n(+) if a=b, V(pv)= jh - jn+a a - 1 - q (jh+a)2 - csw+a)2 - jh+a pr. a)2  $h_{y}(t) = e^{-at}u(t) - ate^{-at}u(t)$   $h_{y}(t) = e^{-(t-1)}u(t-1) \quad H_{y}(jw) = e^{-jw}$  $S_{(4}(t) = \begin{cases} t h(\tau) d\tau & \begin{cases} t e^{-(\tau-1)} \mu(\tau-1) d\tau - u(t-1) \end{cases} t e^{-(\tau-1)} d\tau = u(t-1) \begin{cases} t e^{-(\tau-1)} d\tau = u(t-1) \end{cases} u(t-1) \begin{cases} t e^{-(\tau-1)} d\tau = u(t-1) \end{cases} u(t-1) = (1-e^{-(\tau-1)}) u(t-1)$ (b) 4y(t) = S(y(t+1) - Sry(t-1) (c) yes h(+)=0 t<0 (d) yes ( thit) dt is fibite.

